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Abaye said to him, no; that they reversed it and disqualified them,
from where do we know this, from the latter, etc.

Overview!

»aX disagrees with 27 and maintains that we cannot prove from (the X7 of) the
Xn>12 that X1 711 N9 nn awnon, for the Xn»72 is only discussing two sets of 07y,
the first who testified that the master first blinded his *1v15 72¥ (thus setting him free)
and knocked out his tooth afterwards (making him liable to pay for [just] a tooth).
The second set of 0>7v were the o » 1 0°7v, who also testified, but in the reverse
that he first knocked out the tooth and then blinded him. »2aX concluded (proving his
point) that just as the X5°0 of this Xn>72 is in a case of 7117 and reversal, therefore
the X1 is also discussing a case of 7n77 and reversal.

= NI M1 RAT RPPTT NHVYN PHYT NPHOT IND 295 291 XIND Y37 PNYY 13%249Y AN
It appears to the ' that the entire discussion here is only according to what we
assumed now that the inference of X33 that X>7 717 n°nn nwndn was from the

beginning of the xn>12 -
= 30219m NT AN 9IN NDY XD NAYT NPITT NIPON NINA %9 DaN

However, truthfully the conclusion of the X717 is that the inference of X329 is from

the latter part of the Xn>73, and 2K never said this -
= "NV Na9T NPTT 09290 YAV PN 99 ANT NYIIN 12 ©X9NN PN NIYYIN M NYN

Rather it was the people of the academy that answered this according to »an
(who maintains X7 7217 090 WY 7wnon), according to what they assumed that

the inference of 82" was from the X@" -
- 1T 795 NYA N2 NAPINTI 7N WHWA NYIIT AN S90NT NIPON 299 Yax

't is advisable to learn the entire 8’210 until the end of X,7v, before studying this M50, One may find it helpful to
review the X210 by perusing the ‘Appendix’ at the end of this N1901n
2 In this part of the X7»3 it seems that the proof of X317 is from the Xw™ (since it must be discussing three sets of 2*7v).
However, ™K argues and maintains that since the &5°0 is with only two sets of 0’7y, so the X" can also be discussing
two sets of 2>7v, and therefore no proof. This assumption that s'X27 proof is from the X*1 is not according to the X1pon.
Additionally, this which »ax assumes that the X" is by two sets of 0’7y, also seems to be contradicted by the X1pon,
where 2R states, 19 IR 277 *INP "IAW NN WY RDT A0 K7 XY RaHWw2.
3 »13X never said that the X" is by two sets of 2>7¥ and 2°1X1 719°X (and he never assumed that X7 s'827 is from the
Xw™).
4 Therefore, they needed to interpret the X1 not like X2 (with three 27y *n3), but rather with two 27 *n>.
3> The 11"am M amends this to IKp (instead of 7MX7T).
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However, according to the conclusion of the X713, even 28 agrees that the Nw>9

is in a case of three 0°7v 5n2, as 837 established it, without resorting to 7777 795 -
= NNTHA 7911 DNVYI R0

And the X230 is by two 0>7V °n> and with 7237 98°% —

mooIn comments:
= 515 IWNINN 15 ONT NYINN 1NN AN VP NPITIND)

And when 2R stated y71920R first and then 171°17X, it was not precise, for if indeed

the reversal (i.e. contradiction) was first, so since they were already contradicted,

how can there be a 17 according to 2y, since X7 AT 121N WY WO —
= 113999N 971 1NN NIPIYN NON

Rather initially they were 2% them, and afterwards they reversed the testimony-
= 799259 51 TIN 1NNIINY 1NN NIPIVM ) ON

Or you may also say, they reversal was first and they were 23t them 7''2n of the

reversal -
= 5999 N1 MIND /X2 NY P »ANRT PNY 199290 AN

And it is the view of the °'' that s"2R (even in the X"177) establishes the X1 with

three sets of 07V, as is evident later in the X3 -
- 1°1b 99X 290 29IV NPT MNI /) INDa D NY XYW NRYVAa ‘[b 99N AN MINPT

For the X3 states later, ‘and 2R will say to you (in refutation to s'®27 proof),
‘“granted regarding the 829 it would be insufficient unless there are three sets

of 0”7y, since the Xn> 72 states, ‘for the master says so’”’; this concludes the citation

from the X773 later; N190I1N continues to explain -
= 12555 INYINN YYNININ NY RNWAT IHNNPY 1790TIN) 1712999N 133 INYINNT 999IN)

And we are discussing a case where the middle group (first eye and then tooth),
also reversed the order of the first group, and were also 2% the first group, so now
the middle group was not contradicted at all -

® Once there was a w27, their testimony is invalidated; there is no place for 7n1 by invalid o*7v. See ‘Thinking it
over’.
7 Since it was 7" it is considered as if the a7 7wnon were simultaneous.
8 x,7v. The three sets of o7V are; 1) first the tooth and then the eye, 2) first the eye and then the tooth, 3) o man oo7w.
® The 127 M7 amends this to 23227 (instead of X22) [perhaps he meant X77 (instead of X22)].
10 The expression '15 X 277w, indicates that there were two versions; 1) first the tooth, and then the eye, or 2) first
the eye and then the tooth. The master prefers the latter version, for that makes him liable only for a tooth. See footnote
#19.
' The second group (eye first then tooth) was (first) > the first group (tooth first then eye), and they also testified
that the order is reversed.
12 Since the first group was ana (by the middle/second group), their entire testimony is discarded, so no one is
contradicting the middle group
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- Bybyng XoN DT HNN HYNINT NI P1IY XIPN
And so therefore we cannot infer from this Xn>>72 that 837 73917 N0 2nem, since

the middle group must pay, because the middle group was not wns17, since the first group was
anm.

moon responds to an anticipated difficulty:'4
= 15R0PY 1Y 9197 11N NI TaYD 1Y 91T PNRDYN INYINN 1PN INENI 2N 2D

And when the X072 states, if the middle group was found to be 1''v, they pay the
value of the eye to the slave, the rule actually is that they must also pay the >»7

¥ to the first group as well-
- 0197 YUNRI DIVN 162495 Y 1T OMIN 12229010 191 Y9NV

Since the second (middle) group was making the first group liable to pay the a7
1Y to the master on account of 277 9WN>; the reason the X012 dos not mention this
payment is -
= 9)501Y YN XY RN1H22 DINYNRY 19911 KOV 295 NON
Rather since the first group was not mentioned in the Xn93, the Xin was not
concerned to teach it, but it must be paid.
= INYINNT ININA TIDNY YYD 199998 1IN PPN 17911
However, we do not need at all to assume that the last group reversed the middle

group; it is sufficient that the third group was merely a1 the second group -
= INNIP NTY NP NIMIN NINNT 1994

For once the second group was 217, the testimony of the first group is
automatically sustained —

In summation; the proof of X217 is from the X5°0, therefore when 2R purportedly said that since the
X2°0 is by two groups the X" is also by two groups, it was not 2R, but rather his students (who

13 The n"an niman amends this to "n5wnTa (instead nHwnT)
14 The xn>™3 states regarding the X7 that the middle group (who was on1 by the third group), must pay the value of
the eye to the 72y, since the middle group (who said first eye and then tooth) wanted to deprive the 72y from 1°¥ 7.
However since (according to '01n) the middle group was 0" the first group (first tooth and then eye), the first group
was then obligated to pay the master the v "7, which they wanted to make him pay, so the second group which was
ann by the third group should be obligated to pay 1°¥ 17 to the first group.
15 The second group with their 7a1m 97 (first eye and then tooth) caused damage to both the first group (to make
them pay v "n7 to the master), and also to the 72v (for denying him 11°¥ °n7), therefore the second group must make
two payments of 1°V 17, one to group one and the other to the 72v.
16 The first group testified first tooth and then eye, so they attempted to obligate the master to pay 1°¥ "»7 to the slave,
and since the second group was 0’1 the first, this caused the first to be obligated to pay v "7 to the master on account
of onr WwK>.
17 It would seem from this that both the middle group and the last group reversed the statement of the M7V prior to
theirs. The second reversed the first, and the third reversed the second. N50I1n writes that it is not necessarily so.
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assumed that s'X27 proof is from the Xw7), who said that. However, 2% maintains all along that
the X is by three groups and the second group and the third group were o’ the first and second
group respectively.

N1DDIN NIDDIN cites now "' WId:
= NOYD 1195 /NI 722 XYW 2P »aNT 1By v9VNpaY

And >"'w1 explained that 2R establishes the xw>9 with two sets of 0°7v, just like
the X290 (not like the >") -

nooIn responds to an anticipated difficulty: !
— 1I2999NT 13°P4> N INTI ONIPIVNT 15 MIIN 290 29IV NPT NN AW»H U

And we can resolve (according to >"w") this which the Xn>72 taught, ¢ 2977 s aw

12 2IR’, that initially we certainly did not know that the 72177 27V will reverse

the order of the previous 27y -
= 22yON DY 1T 290 NNV INIONRT XNYN YAN 2115 99N 290V NN )7 DYP 1N

So, we had this difficulty, what does it mean '}2 928 29772, but now when »2X
stated that the 0’1 07V reversed the previous group, the master is happy with

the testimony of this original group -
= 23193 999 ININ 12NY DY INDIY Y11V 29D |V 27 ON 23 IMN D229NH1) PRY

For they are only obligating him to pay the value of a tooth; he is happy with
these 07y, since the master knows that other witnesses will come (the 0°2°17 2°7Y),
and will obligate him Py »7 -

In summation; according to X217 who did not conceive that the 0°»°177 227 reversed the testimony,
the X1 requires three sets of 07 in order to justify, '12 9K 277 *7W'; however ™R who assumes
that the o o1 a*7v, reversed the order, two sets are sufficient and we can understand 2977 7w

18 See IR 1"7 2,39 >"w7 and X0 7"7 R,V
19 The reason we assume that the (X" of the) X072 is discussing three sets of witnesses, instead of the two sets,
which the &n>12 states clearly, is because of the difficulty, with the expression of the Xn>72 which states, 277 "R’
19 X, If as the Xn12 states that the first set of 07y said, ‘first eye and then tooth’, why is the master satisfied with
that, he would rather that they do not testify at all, so he can keep his slave. Therefore, the 8713 explained that the first
group (not mentioned in the &n»173) stated first tooth and then eye. Now we can understand why the master is happy
with the second group (first eye and then tooth) since a tooth is much less expensive to pay for than an eye. However,
"7 who maintains that the X1 is discussing only the two groups of the ¥n*2 (not the additional first group that
was added on), how will he explain 13 91X 2777 »7w'?! MdOIN deals with this issue.
20 This is referring to when X271 made his inference that there are three groups.
2! See footnote # 19.
22 He is happy for he knows the truth that it was first the tooth and then the eye, as the P17 27w (the truthful o7v)
will testify, but now the master figures these (false) a>7v are testifying for my benefit.
23 The master knows that the first set of 0>7v are liars, and that the 217 07 who actually saw what happened, may
eventually come and testify for the detriment of the master.
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12 m8; he is happy with the first group (which were ann), for they are better than the 2 m7 227y,
who will make him pay for an eye.

mooIN suggests a retraction from what he stated previously:**
= HNNRN 29D 1N NIND DI MIPIND NIIN 1T 29D

And according to this (°"w19) it is possible to establish the entire discussion
(including the part where »2X states that there were only two groups), according to

the truthful xipon -
= 25N 199 MIND YHYA 9N NOYDT NN ‘|7‘T‘|7‘17 NN XYW NN N9 Na9T

That the only reason X293 cited the X@s9 was to infer from it that the Xp°0 is

discussing three sets of 07, just like the Nw>- -
= 270191 79993 25515 722 )0 NOYOTI ND) TTINRY P11 79D 9971 »aN)y

And 2R responded to X217, ‘infer the opposite, for since by the X2°9, two sets

with reversal and %2177 are sufficient to justify the xn»12 -
= 1N /23 NDID MNIPIND NIINT XY NN NIYDMN NINI T2 PR M 732 %0 ) XYM

Also, in the X9 two sets are sufficient and you have no proof from the X2°0,
based on the X, for we can establish the entire Xns392 (the X¥°7 and the &5°0)
with two sets of witnesses.

MooIN anticipates a difficulty:
= 28,905 WHY N2 50 KXY XYW RNYYA 19PY 9DRPT NI

And regarding this which »2X stated later, ‘granted that in the X@»9, it is not
sufficient, unless there are three sets of o7y’ —

MooIN responds:
= NS YIYA NY NP KD IN 13 MIIX 290 29NV Y AWINN XY ) ONX P9aND 90N

24 mpoin initially said (see footnote # 3) that according to the X3p0n, »2X never said that the X is by two sets of o7y,

but rather »ax agrees (in the X1pon) that the X is by three sets of 07y (like X27). Now nooIn suggests it is not

necessarily so.

25 The Xw™ must be discussing three sets of 27y (according to X27), for otherwise (if there were only two sets) we

would have the difficulty with 15 2% 277 "W’ (see footnote # 19).

26 In the X9°0 we have no problem with 19 92 72v7 7AW", for the 72V is delighted with their testimony (tooth, then

eye), since 1) he goes free, and 2) he is paid for an eye.

27 We need the o 171 07V to reverse and state eye then tooth, in order to explain why the 1"y do not pay the value of

the entire 72V to the master.

28 This seemingly contradicts this which Mp0n just suggested that this which »2x stated initially that the X7 can be

by two sets, is even according to the X1pon; however, we see that ™2X in the X1p0n maintains that the X>7 must have

three sets of o>7v!

2 R is saying to 827, I (*"2X) can justify '19 IR 277 ™MW, even with two sets, and so therefore I say if the X is

two sets (with 21%1 7'9X) the X920 is the same, and you have no proof. However, even if you do not subscribe to my
5
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This is what »2X meant; even if you (X27) cannot reconcile the words 928 3972

'y9, unless you establish the X1 with three sets of 2°7v -
= NI 722 99N NP0 DIPNI YN

Nevertheless, the X250 can be discussing two sets of 0°7y —

n1voIN asks:
= 72Y7 1Y 907 9IDWN INNPN XY N NNPIN MND /23 X 9NN ON)

And if you will say; if you (>2X) establish the X2 with two sets, why does the

first set (eye first and then tooth) which was on7, pay 1°» %7 to the 72y -
- 1199 52Y9WY 33 1Y T NPNY 1Y 5P9NT 1N H9¥Y 13999999 1YY NYHN

Let us ask on ™2X as the X713 asked previously, ‘after the o>7v sent him out free,

should they be required to pay him the Py 27’ -
- 9IN2 1N2IVY Y P19

For the 1"V can argue, we came to testify for his benefit -
= 30382 NPV DY NIDIND 9D PDIDMT (8, xn paTMIvY PPTIA PN PID YNINTD

As the X713 states in 1P712 1977 P99, that the 2°7Y can say we only came to prohibit
her on her husband —

N190IN answers:
- P13 929 TRYWS $9IRT 31995901 NI 793 KNWD 1Y ¥PIT INNPYT 929 U

And one can say, that according to »2X who now establishes the Xn>92 in a case

of ‘reversal and 112777°, we have concluded (later in the X7%)) that it is discussing
a situation where the 72¥ previously received his verdict in court that he is free -

= MINY Tayn XYY 9291 DDHON) 925 RNNDNY

And presumably the matter was already publicized that the slave has been freed -

= 321542 YY1 9N 390V 2INPTI N7 MY 291

interpretation and insist that the X2>7 must be by three sets, that is not sufficient proof that the X5°0 must also be by
three sets (especially since the 172 mentions only two sets).
30 The x»3 there said that if 2*7v testified that a married woman was 721, and they were o117, we cannot put them to
death, because they can claim that they had no intention (in their testimony) to put her to death, but rather only to
prohibit her to continue to be with her husband. Similarly, here the 2>7¥ can argue, our intent was not to deny the 72
his 11y "7 (when we said, first eye and then tooth), our sole intention was to free the 72y. These °7¥ are testifying
falsely (they were ani), so they can claim we only wanted to free the slave (and harm the master), but in our lie we
were not particular; tooth first, or eye first; we did not plot to hurt the 72v, but rather to assist him.
31 See x,7v that the 72y was already freed in court by other witnesses (for either the tooth or the eye). This >3 is
discussing a new case, in which the 72¥ is claiming against his master; the 72y wants 1Y "»7 and the master agrees
only to 1w 7.
32 This means that the 27 agrees to the previous 27y ([not mentioned in the Xn»12] who freed him by saying first eye
and then tooth), and to the current 0°7¥ (mentioned in the Xn»71), who are supporting the previous testimony and
saying that in the 172 772v71 they freed him with eye first and then tooth.
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And even the master himself agrees that the slave is free, as the Xn>72 states, ‘for

the master says so’ that there was a ruling by the court that the master owes for a

tooth only -
= 1299 290 DX 1P910) 1Y 21T YAIN TAYNY 29D PYIY 11T PNAY 1Y D)

And the entire main issue for which they are coming to be judged now, is

because the slave demands 1y 527, and is calling his previous master to court -
= 3423 HY IND YT RIN INN XD 2700 INN 29 799 100 9970 N1 1AM

And the master agrees to pay the slave 11°w 27, so when the first set of 2>7¥ come
to testify first eye and then tooth, they are only coming to diminish the claim of

the 72y; the sole purpose of their testimony is -
- D1Y INIY DN DY 3#0N29a272 UNN 119 XY 1Y NT HY 021y INIY ONY

That in case new 2°7¥ will come to support his claim (of the 72V) regarding 1w 17,
their words will not have any substance, and they knew that 237y will come —

moo1n explains why initially did we not assume this:
- P12 TPV 3999107 108> N KD NIV DaN

However initially we did not know that he already received judgement to be free,

so in that case -
= 39109 DIPA NINT OITYD TaYN 298 DAY NN NN 290 199N

Even if the master will admit many times that he knocked out his tooth and blinded
him, the 72y still requires the 2°7¥ to be free, since one who admits to a fine is

exempt from paying the fine, so the 72y can be freed only through the testimony of the 2>7y -
=915 MIND NPD 2PORT 9N 929V 7599 5N DIVYN

Therefore, the X7n) there (in the X"17) correctly asks, ‘after the 0°7v set him free,
etc. you expect them to pay 1°¥ *n7’

n1voIN asks:
= 1Y 799192 NOYDY MPIND AN PNT NN 9NN ON)

And if you will say; why did 2K persist to establish the X5°0 in a case where the
second group reversed and were 2%, but -

33 They cannot claim that their intention was to free the 72y, for he was already freed and the dispute is merely how
much does the master owe him.
34 This first group of 0*7v (mentioned in the Xn™13) are false 0°7v, as we see that they were anm. Their entire claim is
that the master only owes 11w "7, to which the master admits. The only reason they are testifying is because they
assume that real 0>7v will come and testify that the master owes 11°¥ °n7, therefore they say 11w "n7, so it will be >7n
M, and the 72y will only receive 11°w °n7. These 0*7¥ did not suspect that they would be an.
3 The rule that an 72v goes out free ¥ 12 is a 01p, therefore there needs to be witnesses that it happened; the master’s
admission is insufficient, since 715 012 77,
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=13°W 99719 N9 2979 10Y 90 1IN TAYIY 9N N 19PN )27 11IYaT 1S
Since we established the Xn»9211n a case of 1772 %Y, °aX should have said instead

that the 72¥ demands 11°v ’»7, and the master admits to 1w »7 -
= 01511 ©27Y INY 1Y NN NNYDI 1Y NN DI9NT DTY T2y N*aAM

And the 72» bought 27y that first he knocked out his tooth and then he blinded

him, and other 2°7¥ came and were 27 the first set; why the need that the second 0>y
reversed the story?!

N190IN answers:
19272 DY WIWD NIN Y99 MTINY 390 MY PRY 0PI RNYINT XNIIN NIN

Rather the reason for this is, the Xn>"2 discusses the normal situation, that it is
not usual that the master should admit to anything at all, unless there were
witnesses in this matter who support his admission.

Summary
M0 maintains that according to the X707 there are three sets of 2>7V in the X1

(and two sets in the X9°0) according to »aX. However, according to >"w75 the X1 is
also discussing two sets of 0>7y, only according to *2X.

Thinking it over
nI90IN writes that when 2R states 1773°2TR) 19K, it is XP17 WX because if the 7w

was first, there can be no 72177.3¢ Does this apply to >"w19 as well,* or just according
to the w10 of the >"72°%

Appendix
The ®w1 of the &Xn>132:

Two 2*7¥ say he blinded him first, and then knocked out his tooth, which is favorable
for the master.>* Two other 07y were 2’11 them, the rule is they must pay the value
of the eye to the slave.

The X5°0 of the Xn>>72:
Two 2*7¥ say he first knocked out his tooth and later he blinded him, which is

36 See footnote # 6.

37 See footnote # 24 & 28.

38 See X"wmn.

% Because he needs to pay only for the tooth, not for the eye.
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favorable for the slave.** Two 0°7v were o’ them, they pay the value of the eye to
the master.

The X178 M7; s'%27 proof is from the RwA.

The X" cannot be understood as written;*' it must be that there was a first N3 (not
mentioned in the Xn>72), which testified first tooth then eye, then a second n>,
mentioned in the XN, first eye then tooth (which the master favors), and the 72m17
were 077 the second (middle) N3, so they pay for the eye to the 7av. This proves
nnat N nn nwnon, otherwise how can we be 0%n the second group after the wnon.
"X refutes this proof.

Both the &9°0 and the X7 are with two 2°7¥ °n3 only. The second n> was 2’ the
first N2, and also testified the reverse of the first n>. Therefore, in the Xw°9, the second
n> (after they were 0°1n) testified tooth first and then eye, so the 1"V must pay an eye
to the 72v. In the X5°0 the o’ (after they were 0’») testified eye first and then
tooth, therefore the 1"¥ must pay an eye to the master.

The refutation of the X"7:

There can be no proof from the Xw9, since according to the first group the master
owes the slave an eye, and according to the second group the master owes him a
tooth, so the second group was not contradicted, for all agree that the master owes
him at least the value of a tooth, so there was no 7wn2:, and no proof.

The Xipon:

X127 maintains that since the X1 is by three groups (but no proof) so the ¥9°0 is also
by three groups; group one says first tooth and then eye (so the owner owes the slave
an eye), second group says first eye then tooth (contradicting the first group, since
an eye is more than a tooth) and the third group was o°m the first group, so they pay
the master an eye.

"R rejects this proof; granted the X7 must be discussing three groups (to satisfy
the phrase that the master approves this); however the X5°0 can be with two groups
NPNATRI 171°2DKRT.

40 For he receives payment for the eye, rather than just a tooth.
41 See footnote # 19.
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